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2A: SHH
M SHHE FQUMFINHIA S 25
&l SHE FMEIRA (&9 ®
_ MU
SH-EFHHA(FA) - NIRAE - BES O AFH ioﬂ/lx_FOH Hos
SHH 578,544 561,043 17,501
SHH FUHFMUIA 5 235 161,657 144,760 16,897
SHH F=oldeXA 161,657 144,760 16,897
SHE FUEHHSEEH 63,110 63,110 0
301 B2 A= 63,110 63,110 0
bE-c2l-EEsEas 59,110 59,110 0
Ooold=¢ 200,000 *1721«12& 40,800
O0lEANHSB 200,000 *1721%23| 6,800
OO0l &3 &Y 20,0003 1721 %23 128 8,160
OBt&E &=l 50,000& x67¢2l 3,350
10 #HALABIE A= 4,000 4,000 0
Ol ¢ #AE AL AHE4
1,000, 0003 =14 1,000
OZE0I12X (2E A AHIEH
3,000,000 =14 3,000
SHH HA2g el 50,858 37,858 13,000
201 L Bt2FH| 17,858 17,858 0
02 E=2gHl 17,858 17,858 0
O3=22= ¥ HA 10,833,000 14 10,833
O4 =zl 5,025,000 = 14] 5,025
OA&EHI XYl 2,000,000 =14 2,000
401 AIEBIZ 20HYI 33,000 20,000 13,000
01 A& 33,000 20,000 13,000
O M OtAZE INLRI| ZA
25,000,000 *14] 25,000
OFAM 28 M 8,000,000% * 14! 8,000
SHH dFHXA 46,189 35,792 10,397
101 @124 d| 12,312 6,555 5,757
04 J12HHZ22NHESES 12,312 6,555 5,757
O3 &Clael 45,6003 52130 6,840
OF Ots&el s2X S#2FH
45,6003 #3021 %40 5,472
201 L EH2FH| 21,337 21,337 0
01 AR 2teld| 13,693 13,693 0
Ogt=gH| 11,693, 0003 * 14 11,693
o2d+¢ 2,000,000 *14] 2,000
02 22294l 7,644 7,644 0
oRE2=z 3,170,000% * 14! 3,170
O 4,474,0009! 14! 4,474
206 =l 7,900 7,900 0




2M: EHH
Mo SHE FOUMHAHA B 23
Col: S FoIMEX (crel @
SN OQ(BH) - HRAY - BAS Off Ak o glggf; Hm=2
01 &4l 7,900 7,900 0
OXCIHE b2 (22 &2
20,000& *40E *53] 4,000
OXCIYSH LHS S22 &OjB2)
10,0008 *40 % +23] 800
OXCITE WEA(ZY TCIB2)
22,000& *100& 2,200
OXCIAE 2IOISHOE(ZY ®OIR2)
30,000& x5S *63] 900
405 KHAHFE S| 4,640 0 4,640
01 AL =EFHSHI 4,640 0 4,640
OTV 1,000, 0002 *1CH 1,000
ORF™ HAFX 2,200,000 = 1CH 2,200
[@X=IPN; 180, 000 *8H 1,440
SHE ALB2AX 1,500 8,000 A6,500
201 L Bt2HH| 1,500 0 1,500
02 =24l 1,500 0 1,500
OBEY AL XL
1,500,000& =14 1,500
SHEH ArE EH| 306,720 306,530 190
SHH ARD FO=2AASY 306,720 306,530 190
SHH FO=2AS 302,160 302, 160 0
401 AIEHIZL 20| 302, 160 302,160 0
01 Al&H| 300,000 300,000 0
OFAH el T2 LA ZA} 20,000,000 * 14! 20,000
OFhtzel S22 EZEIAL 20,000,000 * 14! 20,000
OoE1el A6td HHISAE 21,000,000 14 21,000
OoE2el 2 HEHIS AL 20,000,000& * 14 20,000
OBtE4e| TS LA ZA} 15,000, 000& 14! 15,000
OBHE52] 2EY HHIZAL  15,000,0008 «14] 15,000
OR&1el FHEHISAH 7,000,000& * 14 7,000
OF&22 T2 EBAL 20,000,000& * 14! 20,000
O=tel Dt2erd FHI3AF 18,000,000 * 14 18,000
OUE 12l TS EZA} 21,000,000 =14 21,000
Ootigzel &2 HHISAF 21,000,000 *14] 21,000
ODA2l AHFHIBA 20,000,000 *14! 20,000
oAl 2 HEHISA 20,000,000 *1A! 20,000
Ozl =2 JHISAt 20,000,000& * 14 20,000
Outsle| S 2L E B Ab 21,000,000 * 14 21,000
Os=2c| 22Id HUlSA 21,000,000& » 14! 21,000
03 Al& =0t 2,160 2,160 0




SH: ENH
I SHY A3
el SMY ARL2 =AY (et &)
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 gggfg Blusz
OAIZ =0 bI 300,000,000 %0.72/100 2,160
SMNYH E2EFH| 4,560 4,370 190
101 Ql244] 4,560 4,370 190
04 12 HN22NEE+ 4,560 4,370 190
Oz zel(ME) &« &35l
45,6003 102110 4,560
SNH dYy23 2 110,167 109,753 414
SNY eg=23] 36,351 33,557 2,79
SNY g =23H] 36,351 33,557 2,79
101 2124 8| 36,351 33,557 2,794
01 2= 36,351 33,557 2,794
OAlZeZ2R2+E 8,078% »1521%300A1 2+ 36,351
SMe Jl=3l 73,816 76,196 A2,380
sSHE Jl=dt 73,816 76,196 2,380
201 dEt= &I 7,856 7,856 0
01 At 22l 7,856 7,856 0
OFRANE2E+=EH 5,336,000 * 14| 5,336
O=¢gtl 7,000& %1521 %23 12 2,520
202 O4H| 55,760 49,040 6,720
01 2L 55,760 49,040 6,720
OZ2loil 2,000,000 14 2,000
OJlzgR=+0itl(162!) 4,480,000& 128 53,760
203 ¥Rl 10,200 10,200 0
01 J[22d R FaH| 6,600 6,600 0
OJ|azggex=al 6,600,000& »1¢! 6,600
02 Rt 2 =& 600 600 0
OF 2t RF&] 40,000 *15¢! 600
04 FEAEEERFAH 3,000 3,000 0
OFAM2SYE=AH 250,000& ~12& 3,000




